
Math 212 Worksheet 11 Nov 5 2020, Instructor: Jiuya Wang

Problem: Divergence/Stokes Theorem
Compute the following flux surface integrals using divergence theorem

1. S: the exterior of T := {(x, y, z) : x2 + y2 = R2, 0  z  5} with outward normal
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2. S is the unit cube with vertexes (±1,±1,±1) with outward normal. ~v =
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3. S is the part of the plane x + y + z = 1 in the first quadrant with upward normal.
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4. Given the vector field ~F =
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A, � is the unit circle on xy-plane. What is
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5. � is the triangle with vertex to be (1, 0, 0), (0, 1, 0) and (0, 0, 1), and
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6. S is part of the surface z = 4� x2 � y2 above z-axis with upward normal, and
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Stoke's theorem
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where 5 is the surface x y e 4 in Xy plane

Therefore we have
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